More Similar Triangles :
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Indirect Measurement: oY
Ex 2: Aflagpole that is 11 feet tall casts a 5 and a half foot shadow. At the same time of day, a nearby building casts a

10 ft, 7 in shadow. How tall is the building? CONVer+ +o \\(‘\C,Y’\efb \ Y
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Anna wants to find the height of the tallest building in her city. She stands 384 feet away from the building.
There is a tree 200 feet in front of a building that is 20 feet tall. How tall is the building to the nearest
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4. | Driving through the mountains, Dale has to go up and over a high mountain pass. The road has a
constant incline for 7 %, miles to the top of the pass. Dale notices from a road sign that in the first mile, he
climbed 840 ft. What is ﬂ]\e height of the mountain pass? (5280 ft = 1 mile)

1% x 5280 =40920 F+
X B 404920
240 5280

5280 x = 34312800
(X =.,510%+ |




